11. 1.6liters of cold medicin
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€ is sold in one month. If the total amount paid for the cold medicine was $8,000, how
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17.  The art gallery has a painting that is 57 inches long and sculpture that is 4 feet 8 inches long.

smp1 Which is longer and by how much?

- ol L
TS T VNG o \w\%k/\f \ﬂ\ﬂ_,___u ; ‘
= Jle ol % &t
(pawwing ~ GTINNes— GEpn 7 Sl

SMIPTWE = BTt = i wgintgin= SO

= yy(l2w) ; : )
18. The weight of 43 identicalmgs 224.46 grams tot;%ht of each marbles
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re agame. Each di;penser%eld 2 liters of sports drink. If all 4 were
how many glasses were filled?
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20. A coach prepared 4 drink dispensers befo
smp1  empty after the game and each glass contains 500 mL,
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oxes with 32 shelves in each box. If they order 65 boxes, how many
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